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e 11:11 10:13 10:55 10:30
KR (m) 24.3 26.5 19.5 55.3
ZEAE (m) 4.5 5.5 4.5 45
KE 7 7 7 6
JKiE (°C) == 16.6 18.2 17.1 17.4
5mfE 18.4 18.4 185 18.0
10m/B 18.1 18.2 18.2 18.3
15m/B 17.9 18.0 18.0 18.1
[E = 17.7 17.7 17.7 17.4
185 EAE] 32.18 33.79 32.54 32.73
5mfE 33.89 33.93 33.81 33.59
10m/E 33.96 33.97 33.96 33.96
15m/B 33.96 33.98 33.97 33.98
K= 33.97 33.97 33.98 34.00
Fe R B0 FE (%) A= 98.5 99.6 113.4 112.6
5mfE 100.3 95.4 102.3 106.5
10m/B 85.0 91.1 89.4 90.8
15m/B 91.3 91.2 89.7 91.3
[ = 86.7 90.3 86.3 88.6
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